
  

3                         %��'Qdا e���0ا�  

  ���ر /���ر /
  
  
  

 �����1 	
  )Z ,N( ا���
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 $� ا���0>�~ ا��ي  �2ور $�l>� اh=0>�ار ا���*;�  -1
  B% ه�ا ا��ilc؟

 .��زوت�12;��"	ن و ا��B o�14 ��6% ه�ا ا��ilc ا����6 -2
  ؟β+ و ا��	اة ذات اQd'�عβ-$� ه% ا��	اة ذات اQd'�ع -3
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  .o$ α ا
  .Zو Aأآ�0 $'�د�� ه�ا ا��H$ C0D0دا ا�'�د / -1
226��� ا��&b ��	 �ة ا��اد 	م -2

88Ra	1ه
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t =1 620 a، 

�;� ا�O�S ا�%��0 -3 �0�  N��
��ف ��� ا��&b و "�/ أن �'τ 1
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t = Ln2  a�_ τ/$#0� ا�"�I. 

���� $/ ا��اد 	م%15أ_�� ا���ة ا�|ز$� �C0D0  - أ /$ . 
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B %B238&�;� ا��	را
�	م �H0	ل ا��	 �ة
92Uة� إ�� 	�206 ا�

82Pb'" �00ت�D0ا� /$ �;�;= αو β-.  

	ع -1 O�00ت $/ آD0د ا��� ._�د 

	 �ة ا����ص���ذ -2 ��� �;�&Dا� %G0�� ؟206ا 
�;� آ0;� -3 �� �� ��

�0Dض أن آO .  $/ ا����صm' = 10 mg $/ ا��	را
�	م وآ0H�m = 1 g�;0	ي ��cة $'�

 �6H� ه��
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$�دة ا����ص ا�0% ��	ن ا�&�cة ه% 
C0D0� �2�0 ا��	را
��
 .��	ن ا�&�cة ا��'�
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t = 4,5.10  a  

206 -1 238 -1
82 92M( Pb)=206 g.mol  /  M( U)=238 g.mol  
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